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Question Number : 1 Question Id : 146587101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which district of Chhattisgarh is India’s only active tin mine located?
Options :

146587401. * Balod

146587402. * Janjgir

146587403. * Korba

146587404. ¥ Bastar

Question Number : 1 Question Id : 146587101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HRd &1 THHHE Iy fea @M sxiiaie & fog o & Ry g2
Options :

146587401, ® STAIG

146587402. ¥ SSIR

146587403, % BT




146587404, ¢ SR

Question Number : 2 Question Id : 146587102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

'Chhattisgarh’ derives its name from the 36 garhs (forts) on a river, 18 garhs to the north of that river and another 18 garhs to the South of that
river. What is the name of the river on which these 36 garhs lie?

Options :

146587405. % Mahanadi
146587406. ¥ Shivnath
146587407. # Hasdeo
146587408. #* Indravati

Question Number : 2 Question Id : 146587102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG’ & ATH & gl T 1 TR fUd 36 g1 (fhah) T g3 &, o ¥ 18 fhdl 39 7 & ST H 3R 18 foval 39 afeor o 91 39
T &1 T 1 &, ORI et RRya 82

Options :

146587405. % TGFQ]

146587406. ¥ TRIaTY
146587407, % gIcd
146587408, % Sgrddl

Question Number : 3 Question Id : 146587103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Name the foreign traveler who visited Chhattisgarh in 7th century.
Options :

146587409. # Fa-Hien

146587410. * Ptolemy

146587411. * Al-Masudi



146587412. ¥ Hiuen-Tsang

Question Number : 3 Question Id : 146587103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

39 e g &1 11 Sa1su o 741 Wdisd! H STe ST 1|
Options :

146587409. % WI-fgU (Fa-Hien)

146587410. % CIH! (Ptolemy)

146587411. % 3{c1 HMYQ! (Al-Masudi)

146587412. ¢ G- (Hiuen-Tsang)

Question Number : 4 Question Id : 146587104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ancient deposits of Chhattisgarh and Jain religion memorials are found at:
Options :

146587413. ¥ Malhar, Sirpur Maheshpur and Arang

146587414. % Rajim, Sita Bengra and Jogibhatta

146587415. # Deepadih and Dantewada

146587416. # Dongargarh

Question Number : 4 Question Id : 146587104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG 3R O YH & WRB! & YR HSR A UMW S 8
Options :

146587413, ¢ HER, RRYR AR 3R 3R

146587414, % 1o, TidT §TRT 3R SRTHET

146587415, % SATSIE 3R garal

146587416, # SN




Question Number : 5 Question Id : 146587105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Mahatma Gandhi visited Chhattisgarh for the first time in 1920 after people's movement in connection with:
Options :

146587417. # house arrest of the ruler of Bijapur by the British

146587418. # ban on mining in Mohra area of Raipur

146587419. ¥ imposition of tax on Kandel Canal in Dhamtari

146587420. # restriction on agriculture in Malgaon village of Kanker

Question Number : 5 Question Id : 146587105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I 9IS SHiGIA & a8 AT Meh 3 1920 T Ugeh IR S<ATE BT RT far |

Options :

146587417. % 3{USI gRT dISTQR & YD Bt FTRUEART
146587418. ¥ IAQR & TG &F T T R IAD
146587419, ¢ 4RI T dad 783 TR DR R0
146587420, # Hih & HTCAIIG UTH T Wl TR ufdae

Question Number : 6 Question Id : 146587106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following festivals of Chhattisgarh was celebrated right after the festival of Raksha Bandhan, in the year 20217
Options :

146587421. ¥ Kajari Teej

146587422. # Surhul

146587423. ¥ Chakradhar festival

146587424. % Rajim Lochan Mahotsav

Question Number : 6 Question Id : 146587106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

fafeiRad 7§ 9 a9 2021 &, 8T AR & 31 JC T H fhg AIGR &I H=1T -7 Y12
Options :

146587421, ¢ o] diol

146587422, % IRgd

146587423, % THR I

146587424, % AT A Heloqd

Question Number : 7 Question Id : 146587107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following dialects is generally spoken in Northern Chhattisgarh area?
Options :

146587425. % Kedri Chhattisgarhi

146587426. ¥ Khaltahi Chhattisgarhi

146587427. % Rakshahun Chhattisgarhi

146587428. ¥ Bhandar Chhattisgarhi

Question Number : 7 Question Id : 146587107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ol 7 9 o I dielt IR TR It BT &7 H Sich ot 82
Options :

146587425. % s BuTe!

146587426. ® WAdTa! BTG

146587427, % &g BUINTGI

146587428. ¥ HSR BNTTa!

Question Number : 8 Question Id : 146587108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In which district of Chhattisgarh is the Chandaini Gonda dance mainly practiced?
Options :

146587429. * Bastar

146587430. # Narainpur

146587431. ¥ Dantewada

146587432. # Kanker

Question Number : 8 Question Id : 146587108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG & fobr forat & Fe1 Mier T ey &9 1 vaferd g2
Options :

146587429. % ¥}

146587430. * FRTYUMYR

146587431, ¢ adrsl

146587432, % HihR

Question Number : 9 Question Id : 146587109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which dance form of Chhattisgarh is also called 'Parrot Dance'?
Options :

146587433. % Raut Nacha

146587434. ¥ Suwa/Sua dance

146587435, # Kari dance

146587436. * Hareli dance

Question Number : 9 Question Id : 146587109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BURATG & [ T U DI a1 T 1 HgT Sl g2




Options :
146587433, # (3 ATl

146587434, ¢ A1/ T
146587435. % DRI T

146587436. % gl T

Question Number : 10 Question Id : 146587110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Name the noted cartoonist who started the monthly cartoon magazine 'Cartoon Watch'.
Options :

146587437. ¥ Triambak Sharma

146587438. # Harish Chandra Shukla 'Kak'

146587439. # Satish Acharya

146587440. ¥ Shekhar Gurera

Question Number : 10 Question Id : 146587110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I UG BICE BT A1 &1 7, S 7Ry 1¢- AT ‘®ie ard' & eaHTd Bt 2
Options :

146587437, ¢ Xddh TH

146587438. % BRI T Yo ‘Bl
146587439, % IR MRS
146587440. ¥ RRER I

Question Number : 11 Question Id : 146587111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Each gram panchayat area in Chhattisgarh is divided into not less than wards.
Options :



146587441. # seven
146587442, # ten
146587443. % eleven
146587444. # thirteen

Question Number : 11 Question Id : 146587111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FNTR A IAS THIEET ST P FHIA ST arel § faviford fear man g1
Options :

146587441. * HId

146587442. ¥ o4

146587443. % WRg

146587444, % RE

Question Number : 12 Question Id : 146587112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many districts of Chhattisgarh are covered as the "Schedule V" areas?
Options :

146587445. % Five

146587446. ¥ Seven

146587447. % Nine

146587448. # Eleven

Question Number : 12 Question Id : 146587112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STNTG o Tohe Fora "SR V" &5 & Sfaid 3ATd §2
Options :

146587445, % Ur9




146587446. ¥ TId
146587447, % A1
146587448, % TRE

Question Number : 13 Question Id : 146587113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

At least meeting(s) of the Gram Sabha must be held every three months in tribal-dominated panchayats in Chhattisgarh.
Options :

146587449. ¥ one

146587450. #* two

146587451. # three

146587452. #* four

Question Number : 13 Question Id : 146587113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG | SfCardt Iga Uard! # g2 i A H UH IHT B 1 I HH 9D/ SEP ST BT ST AT
Options :

146587449. ¢ U

146587450. % Gl

146587451, % T

146587452, # dR

Question Number : 14 Question Id : 146587114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Chhattisgarh, who presides over the gram sabha meetings of tribal-dominated panchayats?
Options :

146587453. # Sarpanch

146587454, % Up-Sarpanch



146587455. ¥ Member of Scheduled Tribe
146587456. * District Collector

Question Number : 14 Question Id : 146587114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG ¥, 3fearht Sga Garadl &1 UMM THT &1 I3H! B &I HI- Bl &7
Options :

146587453. % WU

146587454, % JU-IRU

146587455. ¢ SIY[ed SIS T Ja

146587456, % ToTell dctaex

Question Number : 15 Question Id : 146587115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per the Champion & Seth Classification of Forest Types (1968), the forests in Chhattisgarh belong to two Type droups, which are further
divided into Forest Types.

Options :

146587457. # Five
146587458. * Seven
146587459. # Ten
146587460. ¥ Twelve

Question Number : 15 Question Id : 146587115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I BRI & 0T 3R TS TBIT (1968) P IR, BARNTG | a1 &l UHR & JHg! I Yafed g, forg 3mt g9 UpRI # favnfora
foar T B

Options :

146587457. % Ul4

146587458. % HId




146587459. # a4
146587460. ¥ dRg

Question Number : 16 Question Id : 146587116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In terms of area with forest cover, what is the rank of Chhattisgarh state in comparison to other Indian states?
Options :

146587461. * First

146587462. # Second

146587463. ¥ Third

146587464. * Fourth

Question Number : 16 Question Id : 146587116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I 3HTBTEA a1 & & e H, 3 HRIT T &1 a1 H BURITG Iod HIF R W g2
Options :

146587461, % UYH

146587462, ® gt

146587463. ¢ qdId

146587464. % Ty

Question Number : 17 Question Id : 146587117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per the 2019 report of Department of Industrial Policy and Promotion (DIPP), what is the rank of Chhattisgarh state in Ease of Doing
Business in comparison to other Indian states?

Options :

146587465. * Fourth
146587466. ¥ Sixth
146587467. % Eighth



146587468. * Tenth

Question Number : 17 Question Id : 146587117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3N if 3R Tae favmr (Industrial Policy and Promotion (DIPP) Pt RAE2019F SR, Y HRAT ] Bl KL | gﬁf 3
211 fooy & ST ot &1 3 T 87

Options :

146587465. *® Tgqd

146587466. ¥ B3I

146587467. % 313l

146587468. # <

Question Number : 18 Question Id : 146587118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which steel plant located in Chhattisgarh is India's sole producer & supplier of world class rails for Indian Railways?
Options :

146587469. * Mahamaya Steel Industries

146587470. ¥ NDMC Iron and Steel Plant

146587471. # JSPL Raigarh

146587472. # Bhilai Steel Plant (BSP)

Question Number : 18 Question Id : 146587118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG H fUT S T SXUT U3 HRATG Yafd & fore fay Tasia ¥ &1 YRd &1 T Sdled SR 3yfdedl 82

Options :

146587469. % HEM €Id SS% Il
146587470, % TASITHY! 3R U EId Wiie
146587471, % SUIUINT TG




146587472, ¢ TS s@UTd wie (wgd)

Question Number : 19 Question Id : 146587119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The demand for a separate state of Chhattisgarh was supported by which of the following parties?

Options :

146587473. ¥ Congress and Bharatiya Janata Party

146587474. # Bharatiya Janata Party and Aarakshan Virodhi Party
146587475. # Congress and Bahujan Samaj Party

146587476. * Bharatiya Janata Party and Rastriya Jantantrik Dal

Question Number : 19 Question Id : 146587119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG BT 3T T T P HiT B Fgfafed & 9 fo gal 3 gud= fear e

Options :

146587473, ¢ HIOY 3R HRA SI=1dT gref
146587474, % YR ST UTeT 3R 3mReqor favieh urdf

146587475, # IO 3R Tl THTS U]
146587476, % YR ST UIST 3R AP SHAAD &l

Question Number : 20 Question Id : 146587120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is the longest dam in Chhattisgarh?
Options :

146587477. ¥ Dudhawa dam

146587478. ¥ Tandula dam

146587479. ¥ Rabo dam



146587480. * Gangrel dam

Question Number : 20 Question Id : 146587120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FuraTe B Fafifad o O g a1t o sy S a1 e?
Options :

146587477, % gyaT 1Y

146587478, ¢ digal arY

146587479, % 7€ 1Y

146587480. % TS STe

Question Number : 21 Question Id : 146587121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following dance forms is NOT originated from Chhattisgarh?
Options :

146587481. # Saila

146587482. # Karma

146587483. * Panthi

146587484. ¥ Kachari

Question Number : 21 Question Id : 146587121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafoied & 9 ford T Al B ST BURATG 3§ T8l 85 62
Options :

146587481, % el

146587482, % A

146587483, % Tt

146587484, ¥ B




Question Number : 22 Question Id : 146587122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What type of silk is the famous 'Kosa' of Chhattisgarh?
Options :

146587485. * Muga silk

146587486. * Spider silk

146587487. * Mussel silk

146587488. ¥ Tussar silk

Question Number : 22 Question Id : 146587122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG BT URIG BT fHd UDHR BT H 52
Options :

146587485, % T X-H

146587486, % TS Y-

146587487. % T I]H

146587488, ¥ TR X

Question Number : 23 Question Id : 146587123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The production of Tendu leaves in the state of Chhattisgarh is nearly of the total Tendu leaves production of the country.

Options :

146587489. * 10%
146587490. ¥ 20%
146587491. * 40%
146587492. # 50%



Question Number : 23 Question Id : 146587123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BUNIG I H dgUT BT IdTG o &b Hol AUl JUTG bl TRTHIT gl
Options :

146587489. # 10%

146587490. ¢ 20%

146587491. % 40%

146587492, % 50%

Question Number : 24 Question Id : 146587124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Article 243-1 of the Indian constitution provides for
Options :

146587493. % Audit of accounts of panchayats
146587494. ¥ Duration of panchayats

146587495. % Composition of panchayats

146587496. ¥ Constitution of state finance commission

Question Number : 24 Question Id : 146587124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YR AT BT 3w 243-i T UTIYT BT g |
Options :

146587493, % TUATId| & @Tdl P RATURIET

146587494, % TAIdl &I 3fafe

146587495. % TAMId! &I Ta]

146587496. + I fa<T SITANT BT TS




Question Number : 25 Question Id : 146587125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which river is known as “Life Line of Chhattisgarh"?
Options :

146587497. # Shivnath

146587498. ¥ Mahanadi

146587499. * Indravati

146587500. * Hasdeo

Question Number : 25 Question Id : 146587125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG B fHY TSt BT "SRG DI Sita @1 & =Y H ST STl 82
Options :

146587497, % TRy

146587498, ¢ HEFA!

146587499, ¥ Sgrddt

146587500. * g
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Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 146587126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following device is used to convert paper documents into an electronic format for storing purposes?
Options :

146587501. ¥ Scanner

146587502. # Mouse

146587503. # Microphone

146587504. # Track ball

Question Number : 26 Question Id : 146587126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR & I =T J HIToN GTaS] Bl SAdeHd UReY B G- & fore g & 9 forgast SudinT fosan S g2
Options :

146587501, ¢ IhR

146587502. % AI3H

146587503, ¥ TISHIBIA

146587504, % ¢ qid

Question Number : 27 Question Id : 146587127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an input device?
Options :

146587505. * Mouse

146587506. * Digitizer

146587507. ¥ Projector

146587508. * Image scanner



Question Number : 27 Question Id : 146587127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fofifed o 9 &9 91 & 374 fSasyg 781 52
Options :

146587505, # HI3YH

146587506. * fSfoerger

146587507. ¢ UISldex

146587508, ¥ SV ¥hR

Question Number : 28 Question Id : 146587128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(1) Laser printers are always monochrome.
(i1) Laser printers are also called character printers.

Options :

146587509. % Only (i)
146587510, # Only (ii)
146587511, ® Both (i) and (ii)
146587512. ¥ Neither (i) nor (ii)

Question Number : 28 Question Id : 146587128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fofefead & ¥ & I/ YT Td /82

(i) AoR fifer gAx AFIBIH Bl

(ii) Ao fliex &Y FHaex fifex 1t HaTomar 3|
Options :

146587509. % &Hdd (i)

146587510. % &Had (ii)



146587511, # (i) 3R (ii)
146587512, ¢ T4l (i) IR AT &Y (ii)

Question Number : 29 Question Id : 146587129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With respect to input-output devices, the term MICR stands for:
Options :

146587513. % Magnetic Input Character Recognition
146587514, # Memory Ink Character Recognition

146587515. ¥ Magnetic Ink Character Recognition
146587516. ¥ Memory Input Character Recognition

Question Number : 29 Question Id : 146587129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Z9qe-3T3eye fgarsy & Y #, MICR ¥sg &1 YUl U F1 52
Options :

146587513. % Magnetic Input Character Recognition (ﬁﬁ% ERl( PHaex R iiem)
146587514. ¥ Memory Ink Character Recognition (fﬂﬂﬁ L PR RSB )

146587515. ¥ Magnetic Ink Character Recognition (ﬁﬁ% ECd HeaeR Rl QQH)
146587516. ¥ Memory Input Character Recognition (ﬁﬁlﬁ <T14Yc Hae? NHIveH )

Question Number : 30 Question Id : 146587130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a sequential data access device?
Options :

146587517. ¥ RAM

146587518. ¥ Hard disk

146587519. ¥ ROM



146587520. ¥ Magnetic tape

Question Number : 30 Question Id : 146587130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFaffed & @ 19 1 3t ST vy fEasg 82
Options :

146587517. % RAM

146587518. % BTS fS%P (Hard disk)

146587519. ¥ ROM

146587520. ¢ Hifew e

Question Number : 31 Question Id : 146587131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) Cache memory is faster than main memory.
(i1) Main memory is faster than hard disk.

Options :

146587521. ¥ (i) - TRUE,; (ii) - TRUE
146587522. % (i) - TRUE; (ii) - FALSE
146587523. #* (i) - FALSE,; (ii) - TRUE
146587524. % (i) - FALSE,; (ii) - FALSE

Question Number : 31 Question Id : 146587131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fqu U fawedl § @ oH W1 faswey, Rafifad eyt o) Tdrdr &1 garad faaror uRgd &Rl 82

(i) P AERY, BT HER A o9 Bl B
(i) BT AR TS 3% Y awT gl |

Options :



146587521. ¢ (i) - 9; (i) — I
146587522, % (i) - I; (i) — 3
146587523. % (i) - 31; (i) — I
146587524, % (i) - 31; (i) — 3

Question Number : 32 Question Id : 146587132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word 2013, the keyboard shortcut Ctrl + Alt + PgDown is used to go to the:
Options :

146587525. # next page

146587526. # previous page

146587527. % next word

146587528. ¥ last character displayed in the window

Question Number : 32 Question Id : 146587132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2013 H aé’lah:rf W Ctrl + Alt + PgDown T I R M H fHar Sran % |
Options :

146587525, % 3Tl UF (next page)

146587526, % fUzd UY (previous page)

146587527. % 3T Usa (next word)

146587528, ¢ fdsl § UyafRid 3ifdH YU (last character)

Question Number : 33 Question Id : 146587133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word, which of the following keyboard shortcuts runs the spelling and grammar check?
Options :

146587529. ¥ F7



146587530. # F8
146587531. # F9
146587532. # Shift + F7

Question Number : 33 Question Id : 146587133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word ﬁ, fFafafad & @ o9 T oiee idee spelling and grammar S B I BT %‘?
Options :

146587529. ¥ F7

146587530. # F8

146587531. % F9

146587532. % Shift + F7

Question Number : 34 Question Id : 146587134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word 2013, if gridlines are visible, how would you disable them?
Options :

146587533. # Go to Page Layout -> Uncheck 'Gridlines'

146587534. # Go to Review -> Uncheck 'Gridlines'

146587535. ¥ Go to View -> Uncheck 'Gridlines'

146587536. * Go to Layout -> Uncheck 'Gridlines'

Question Number : 34 Question Id : 146587134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2013 ﬁ, Hﬁﬁ@,’aﬁq%@ﬂé‘?&ﬁ %, ar C’rﬂqﬁ'% P fead B9
Options :

146587533, % Page Layout (OS] QI3T3¢) TR SY > 'Gridlines (ISAE=A) &I 30 B
146587534, # Review (R&J) TR M > 'Gridlines (RrSa=z=)y &1 3 <® &



146587535. ¥ View (&) TR S -> 'Gridlines (RISaz=)y &1 3 d® &
146587536, ¥ Layout (T3MT3T) TR S > 'Gridlines (RISaTZ—) & 3 ad B3

Question Number : 35 Question Id : 146587135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word 2013, within the 'Language' menu group of the 'Review' tab there are  options available under the 'Translate’ option.
Options :

146587537. # three

146587538. * four

146587539. * two

146587540. * five

Question Number : 35 Question Id : 146587135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2013 ff, '"Review (ﬁ@' & '"Language (?I’?é?:l)' fﬂ‘gcr T 'Translate @T:\‘:I?TE‘)' faweu & dga L fap e Iuas gd %I
Options :

146587537, ¢ Qi

146587538, # dRR

146587539, % Gl

146587540, % Urd

Question Number : 36 Question Id : 146587136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

You want to run a mail merge in Microsoft Word using an Excel spreadsheet. Arrange the following steps in the CORRECT sequence for doing
SO.

a) In Microsoft Word, choose 'File' -> New -> Blank document.
b) Browse to your Excel spreadsheet -> Choose 'Open'.
¢) On the Mailings tab, in the 'Start Mail Merge' group, choose 'Start Mail Merge' -> Choose the kind of merge you want to run.



d) Choose 'Select Recipients' -> Use an Existing List.
e) If Microsoft Word prompts you, choose 'Sheet1$' -> Click 'OK".

Options :

146587541. ¥ a); c); d); b); e)
146587542. # a); d); ¢); b); e)
146587543. # a); c); b); d); e)
146587544. # a); c); d;) e); b)

Question Number : 36 Question Id : 146587136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I Excel spreadsheet (@?{Qﬂ?) T SUIRT HIPB Microsoft Word H Udh A 7l (mail merge) Il Eﬂgﬁ % | QﬂT CRCE:] 1%111 ﬁq Ry RN
D1 Hel HH U TR B |

a) Microsoft Word T 'File' > New -> Blank document Eﬁl

b) 3T Excel spreadsheet ST BN > Open (GﬁCFD' ﬂefl

%)ﬂﬁm%—q'u?, 'Start Mail Merge (YT 7 Hol)' J0 H, 'Start Mail Merge (T Hd Hol)’ I -> 3 YBHR BT 7ol g 1o 37T I BT Agd
I

d) 'Select Recipients @ﬁ?ﬁf f\"@lﬁ?}' ﬂef ->Udh Existing List Pl SUGRT B |

e) T Microsoft Word 3TT! Habd cdl %, il 'Sheet1 §' -> ﬂ\_ﬁ, 'OK' TR o &1 |

Options :

146587541. ¥ a); ¢); d); b); €)

146587542. # a); d); ¢); b); €)

146587543. # a); ¢); b); d); e)

146587544. # a); ¢); d;) e); b)

Question Number : 37 Question Id : 146587137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is an operating system?
Options :

146587545. ¥ Linux

146587546. * Microsoft Excel



146587547. * Paint
146587548. * Microsoft Access

Question Number : 37 Question Id : 146587137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafafad & 9§ & a1 us sifiRfe Rren 39
Options :

146587545. ¥ Linux

146587546. # Microsoft Excel

146587547. % Paint

146587548. # Microsoft Access

Question Number : 38 Question Id : 146587138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is a type of software with source code that anyone can inspect, modify and enhance. This software is available free of cost.
Options :
146587549. * Firmware
146587550. * Freeware
146587551. * Shareware
146587552. ¥ Open-source software

Question Number : 38 Question Id : 146587138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gﬁﬁ@%ﬂw TH UHR HI AUCIWR ¢ foraeT g +f Fitermr, d=iem iR fadR o Tl | I8 AteddR I & Suasy
|

Options :

146587549. % THHATR (Firmware)
146587550. # U’ﬂaﬂ?(Freeware)
146587551, % QTAUX (Shareware)



146587552, ¢ 3109 U WG daR (Open-source software)

Question Number : 39 Question Id : 146587139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columuns.

a) Red Hat i) Workbook

b) Firefox i) Operating systemmn

¢) Microsoft Excel | iii) Antivirus software

d) McAfee iv) Browser

Options :

146587553. % a—ii; b —iv; ¢ —1; d — iii
146587554, % a—iii; b—iv;c—1;d i
146587555. # a—ii; b —iii; ¢ —i;d —1iv
146587556. % a—ii; b —iv;c—iii; d —1i

Question Number : 39 Question Id : 146587139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



FicTAT T T FI

a) Red Hat i) T
b) Firefox i) 3T e
¢) Microsoft Excel | iii) TeeIad ARSI
d) McAfee iv) ST33X
Options :

146587553. % a—1ii;b—iv; c—1i;d —iii
146587554, # a—iii;b—iv;c—1i;d —ii
146587555. # a—ii; b —iii; ¢ —1;d —iv
146587556. # a—1ii;b—iv;c—iii;d—1i

Question Number : 40 Question Id : 146587140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SNOBOL language was widely used for
Options :

146587557. ¥ string manipulation
146587558. % database management
146587559. % scientific computation
146587560. #* system programming

Question Number : 40 Question Id : 146587140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SNOBOL HTNT &1 SUINT JEIc: o forg gaim Tl
Options :



146587557. ¢ &7 O-IgaRH
146587558, # ScT9y AoHE

146587559, % HISfcitheh HHYCRM
146587560. * R URIfET

Question Number : 41 Question Id : 146587141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) Assembly language 1) Lightweight data-interchange format
b) JISON ii) Assembler

c) PHP iii) Database language

d) PL/SQL iv) Object-oriented scripting language

Options :

146587561. ¥ a—ii; b —1i; ¢ —iv; d —iii
146587562. % a—1i;b—ii; c —iv; d —iii
146587563. % a—ii; b —iii; c —iv;d —1i
146587564. # a—ii;b—1; ¢ —iii; d —iv

Question Number : 41 Question Id : 146587141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



mmmmmﬁﬁmmﬁmﬁmqmwﬁ FI

a) el oTST ) SEeae STeT -9 BAT

b) JSON I ECES

c) PHP iii) ST sTST

d) PL/SQL iv) HTesiore HINUEE FaI-T1Es TERfeeeT amer
Options :

146587561. ¥ a—ii; b—1i; ¢ —iv; d —iii
146587562. % a—1i; b —ii; ¢ —iv; d —iii
146587563. % a—ii;b—iii; c—iv;d—1i
146587564. % a—ii;b—i;c—iii;d—iv

Question Number : 42 Question Id : 146587142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the full form of AJAX?

Options :

146587565. ¥ Asynchronous JavaScript and XML
146587566. * Asynchronous Java and XML
146587567. * Asynchronous JSON and Extension
146587568. * Await JavaScript and XML

Question Number : 42 Question Id : 146587142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AJAX &1 JU1 U 37 82
Options :



146587565. ¥ Asynchronous JavaScript and XML (U@W SraT f¥py Tus XML)
146587566. ¥ Asynchronous Java and XML (TRITTh=Y SITdT TUS XML)

146587567. % Asynchronous JSON and Extension (Q'Wﬂ JSON UUS QGFI%’-‘?H)
146587568. % Await JavaScript and XML (G{a—c’GITaT f&pp UUs XML)

Question Number : 43 Question Id : 146587143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is Node.js?

Options :

146587569. ¥ An open source runtime environment
146587570. ¥ An operating system

146587571. # An application program for notes processing
146587572. # A driver program

Question Number : 43 Question Id : 146587143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Node.js HIT %‘?
Options :

146587569. ¢ 31U T IACTSH THARRAHC
146587570. % AT Rieq

146587571, ¥ ey URIRIT o folu wfteias g Uy
146587572. % Ueh SIgax URITH

Question Number : 44 Question Id : 146587144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the most appropriate option from those given below.

a) Laravel 1) Database interface language

b) SQL i1) Open-source PHP framework

¢) Django 1ii) Combination of JavaScript and XML

d) Ajax iv) A high-level Python Web framework
Options :

146587573. % a—1ii;b—1; ¢ —iv; d —iii
146587574. # a—1;b —ii; ¢ —1iv; d —iii
146587575. # a—1ii;b—iii; c —iv;d —1i
146587576. # a—1ii;b—iv;c—1i;d —iii

Question Number : 44 Question Id : 146587144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T v e @ Fema FY AR TEE 3ugEa TEr @eeT # 9ae #
a) T ) STTET TR ST
b) SQL i) 3-8 PHP SvHE

c) Djange iii) SraT f&Fee AT XML &1 o=

d) Ajax iv) ETS-olge UTSY 99 RHES

Options :

146587573. % a—1ii;b—1; ¢ —1iv; d —iii
146587574. # a—1;b—ii; ¢ —1iv; d —iii
146587575. # a—1ii;b—iii; c —iv;d —1i



146587576. # a—ii; b—iv; c—i;d—iii

Question Number : 45 Question Id : 146587145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Secure Shell provides a secure session when logging into a remote machine. It uses port number
Options :

146587577. % 21

146587578. ¥ 22

146587579. # 23

146587580. #* 24

Question Number : 45 Question Id : 146587145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ferte T=fie & @ 39 R g Rk 99 U RIGT T UGH IRAT I T U AaR T ITIRT el g
Options :

146587577. % 21

146587578, ¥ 22

146587579. % 23

146587580. # 24

Question Number : 46 Question Id : 146587146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

protocol is used for receiving mail.
Options :
146587581. ¥ Post Office Protocol 3
146587582. * Dynamic Host Control Protocol
146587583. * Routing Information Protocol
146587584. #* Address Resolution Protocol



Question Number : 46 Question Id : 146587146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A U &’ & forg Oielid o1 SURT fohd ST 3 |
Options :

146587581, ¢ URE Ay WcIHhid 3

146587582, % SAH® B dheld UlcIdbid

146587583, # FfT ZHIHRA UeidbId

146587584, % Tg¥ YSIqRM UlIbid

Question Number : 47 Question Id : 146587147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Repetition of worthless text in the form of messages or mails is known as
Options :

146587585. ¥ spam

146587586. # cookies

146587587. # firewall

146587588. # phishing

Question Number : 47 Question Id : 146587147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Y AT A & FUH UM SR PI RGB! Hed gl
Options :

146587585. ¥ TH

146587586. % Ppabivl

146587587, % HBIARAIA
146587588, % ThIfT



Question Number : 48 Question Id : 146587148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is an unreliable, connectionless protocol.
Options :
146587589. ¥ User Datagram Protocol
146587590. * telnet
146587591. * rlogin
146587592. # ftp

Question Number : 48 Question Id : 146587148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T YT, PR Ied Welhid g |
Options :
146587589, ¢ JoR ST UICIbId
146587590, % CeC
146587591. * rlogin
146587592. ¥ fip

Question Number : 49 Question Id : 146587149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is most used for analog television and cable television.
Options :
146587593. ¥ A coaxial cable
146587594, # A twisted pair
146587595. # An electric cable
146587596. * A fiber cable

Question Number : 49 Question Id : 146587149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
BT HHAR SYART TATANT Ceiifao 3R b caftfdor o frg foam Sirar 3 |

Options :

146587593, ¢ JHIENY (hIfeT) Hadl
146587594, % fgd 8 UWR

146587595. % Salfacd dbad
146587596. % THIZER had

Question Number : 50 Question Id : 146587150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is a protocol that allows to the user connect to remote computers over a TCP/IP network.
Options :
146587597. ¥ Telnet
146587598. ¥ SMTP
146587599. ¥ POP3
146587600. ¥ HTTP

Question Number : 50 Question Id : 146587150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TP T Ui Id g Sl SUANTahd! &1 L3t dt/sme. bt (TCp/IP) Aede R g (RHIT) SR | dide HR- &1 A T 5|
Options :
146587597, ¢ CTC (Telnet)
146587598. ¥ SMTP
146587599. ¥ POP3
146587600. ¥ HTTP




